The Individual Social Security Investment Program Act


Who would be affected by the reformed system?

· People already retired, or near retirement, do not see any change in benefits. (55 and over).

· Workers between the ages of 22 and 55 have the option of joining the personal account system.

· People younger than 22 must join the system.

How do people get benefits that they have already accrued, before joining the personal accounts system?

· A Recognition Bond is issued to cover benefits that have already been accrued.

· The bond matures and becomes redeemable on the 67th birthday.

· The bond is tradable on the market.  If sold, proceeds go into personal account.

· This is an asset that you own.

If someone selects the personal accounts option, how does it work?

· Employee’s share of the payroll tax (6.2%) goes into personal account.

· During the year, all participants’ contributions go collectively into a broad diversification fund,      called Tier I.

· Annually, funds are deposited from Tier I into each person’s individual account, known as Tier 2.

· Tier 2: Limited range of mutual funds.

· Once the balance in Tier II exceeds $10,000, people can move money into Tier 3.

· Tier 3: Wide range of funds.

· The employer’s share of payroll tax (6.2%) is used to pay for transition costs and fund survivor and disability benefits.

How will the system ensure that people will have enough money for their retirement?

· Participants in the personal accounts program must purchase an inflation-adjusted annuity that is at least equal to 100% of the poverty level for their retirement.

· Once the annuity is purchased, they have 2 options:

Option 1: Annual deposits into Tier I can continue to be directed to Tier II and III, further growing the account.

Option 2: The worker may decide to discontinue, and their deposits into Tier I will be rebated.

· A federal guarantee ensures that the sum of the Recognition Bond + accumulated savings in account will be enough to at least purchase this annuity.

If someone declines the personal accounts option, how does it work?

· Those who wish to remain in the traditional Social Security system would be free to do so. 

· However, beginning in 2012, the formula used to calculate the initial benefit level would gradually be adjusted to index those future benefits to price inflation rather than national wage growth.  This transition would occur incrementally over a 30-year period.   

· This recalculation to price inflation would slow down the rate of growth of benefits.  In other words, benefits would still grow each year, just not as fast.
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